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[P ++]ekipp [pT]c|x|v] v | [P]texipp [pT]c|x|v] Bm | [P]texipp [pTc[x]Vv] Bm |
DIV 1
1| t|Léntgen 1 14(4]1/0] 33
2| t|Lénger 1 14| 4|1| 0| 109
3|t |Berbuerg 1 11/ 3|02
4| % |Diddeleng 1 1113 33
5| |Bartreng 1 1|1]3|1311
6 Recken 1 0|0|5
DIV2-DIS1 DIV2-DIS 2
1[¢/EIl1 14(4|1|/0]| 33 1|4 |Diddeleng 2 13/3(2|0
2| |Housen 1 14| 4|1|0 |21 2| |Houwald 1 12/3]1]1
3 Recken 2 11(3]0|2 3| |Zéisseng 1 11|12(2|1
4| |Mamer 1 1(1|3| 33 4 lerpeldeng 1 10/1(3|1
5| #|Hueschtert-F. 1 1|1]3|1210 5| #|Rued 1 1joj4]
6| ¥ |Préizerdaul 1 0(0]5 6 | ¥|Bartreng 2 023
DIV3-DIS1 DIV3-DIS2
1| 4|Housen 2 15/5|0|0 1|4 |Groussbus-M.1 [14|4|1|0
2 Hueschtert-F. 2 13/ 4|01 2 Ell 2 13(3|2|0
3 Wolz 1 1113|0] 2 3 Kéerch 1 1213|111 BM = BEMIERKUNGEN
4| |Weéntger 2 811|133 33 4] |Wéntger 1 9/12|0|3 PT = Punkten
5| #|EN3 8|1]1]3]19| [s]}|Préizerdaul 2 710/ 4 % < oo
6 | ¥|Wélwerwolz 1 5/0|0|5 6 | ¥ |Hueschtert-F. 3 0/0|5 V = verluere Matcher
o| e = Equipe-Forfait [ 1x|2x]

DIV 3-DIS 3 DIV 3-DIS 4 + = Equipe steigt
1| 4|Zéisseng 2 15/ 5|00 1| 4|Bartreng 3 14 4]1]0 ¥ = Equipe falltraus

» # = repéchéiert Equipe (Art. 5.4.011)
2| |Helleng 1 13/4|0|1 2| |Lénster1 13/3|2]|0 & = disqualifizéiert Equipe
3 Bech-Maacher 1 10| 2|1| 2 3 Recken 3 121311 N-N = Resultat vum 'direkte Verglaich'
(| Bamega |5 113 f Nouspelt1 71004 o | |onTSmamameveondr
5| ¥|Mondorf 1 7|11/0|4 51 5| ¥ |Méischdref 1 7|11/0|4 gg £z = Entscheedung duerch Eenzel
6| ¥ |Houwald 2 711/0|4 6 | ¥|Berbuerg 2 711/0|4
DIV4-DIS1 DIV 4-DIS 2
1| ¢ |Wélwerwolz 2 14|4|1|/0| 33 1| 4|Stroossen 1 12(3|1|1] 108
2| |Préizerdaul 3 14| 4| 1| 0 |11:10 2| |Union 1 12/ 23]0 (gzg)
3 Feelen 1 11(3(0|2 3 Kéerch 2 12|13 (1| 1| 1210
4 Ell 4 1113 4 Recken 4 12(3|1| 1] 810
5 Biekerech 2 1|04 5 Biekerech 1 7/1|0]|4
6| |Weéntger3 3/0|1(4| - 6| |Nouspelt 2 0|0 |0|5]| ==
DIV 4-DIS 3 DIV 4 - DIS 4 DIV4-DIS5
1| t|Lénger2 15/5|0|0 1| ¢ Fluessweiler 1 15/5|0|0 1| 4|Cado 1 14(4|1]0
2 Bartreng 5 11{3(0| 2 2 Beetebuerg-P. 1 13/4|0|1 2 Buerglénster 1 13/4|0|1
3 Houwald 3 100212 3| |Zéisseng 3 11|/3(0]| 2 3 Lenneng 1 11|/3(0]| 2
4| |Recken5 2|03 4| |Sandweiler 1 2|03 4 Fluessweiler 2 1(2|2
5 Zéisseng 4 1113 5 Helleng 2 1|04 5 lerpeldeng 2 1113
6 Féngeg 1 1|04 6 lerpeldeng 3 0/0|5 6 Meechtem 1 0/0|5

[Versioun 16.05.2023]



